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TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
JE BEHERT 2 1 7, 565, 899
EHET = 1 1, 353, 044
AR LT Y 1 1,261, 260 |M&{k (FLE) %+ 220 m3
2. bmATH ;
EHEER T Y 1 91,784 | LT (BT 220 m2
TR E O M B HIF ME
Ak T Y 1 744, 750
TAT 70 M T = 1 744,750 | FEEAR (HE - BEE) 300 m2
FAEITyYrT7 RC-40 0 & 150mm ;
)8 (§E - BEE) 300 m2
FAEBRIET A2, (20) &H%EE 50mm 1. 4mPl 3.0
mPA T
HEKHEY) T Y 1 459, 050
R T =Y 1 459, 050 |7° VE¢A MBI 50 m
300B 300X 300X 600 :
B T = 1 649, 375
B 1Al T = 1 649, 375 | FEWE7 ), ERAE R 25 H
WKl ay s
A - SAE (ST BG R 50 m
2m ;
TE AT R itk T Y 1 622, 200
B EY T = 1 622,200 | HLARSY BIERE 30 N
& E R L) 30ALLE ;
MREE T = 1 3, 242, 500
B SR T = 1 3,242,500 |JEEERE (EA) 25, 000 m2
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TEHX4y « Tfd - FER B Az W B & #A i il iR
SN AL T =Y 1 148, 320
AR AESE T X 1 148,320 | KE+D 5 20 %
HEYE T Y 1 115, 060
EERUE L T = 1 56, 260 | &% R 100 m2
TA77 VMRS BEERE 16cm
TE LB T =Y 1 58, 800 | 10 m3
TAT7IV NS
RISy 10 m3
TAT7IV NS
A Y 1 231, 600
B EHT = 1 231, 600
[ERAE Xy = 1 7, 565, 899
HiE 2 2 1 1, 298, 000
BISTIGE: = 1 124, 000
BGRESCGES (5 1) = 1 124, 000
B (FEHL) = 1 1, 174, 000
T = 1 8, 863, 899
Bl gy 2 1 4, 468, 000
T =5l = 1 13, 331, 899
— R A 2 1 2,858, 101
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